NTRE

=

Rl

g

430m

I (B) THEMAE RN X AT 6 6 2% 5 3 128, 000 62N (1) TREHER)NXTHET204% 1 9 53, 6001
-1 0.0 % -2 AO0T%
169t 142nd
E
M 1 |
E o iE
o |dl#IEHI.O) ! 1
s FEFuA LT o] &
LII % re =
[@__/
:F
s n
S ]
i
—ﬁ 2
EHta IR
kg R 1. 5km Frig R 6km
e () FEHREANKZCTIHELE4THIL 64, 000 TERII () TEERIEA)NXBR AT 3 TH 3 1 167, 0009
-3 6%5 A 0.8 Y% -4 2% 2 0.0 %
[ZTiELBE4—16—5] e v
254t 163t
=
&
)
i
ER
i
s 5 4. 2km FriaR)I 500m
LRI () TFHEMERNXESFE1 TH153 110, 000F4 A () THEMERNXER2 TH4E2 2 211, 000
-5 2%183 A 0.9 % -6 [fEE2—6—22) 0.0 %
MEFHH1—-3—-19) -9 70 .0 %
180nt 181m




AR (B TFHERERJNXHB 7y E4THS 1 121, 0001 TR () THEHIERNXSBYE1 TH25 111, 0004
-7 68%30 0.0 % -8 92%F11 A 000
BIH Y E4—36—17] e MBIH 7 E1—13—2] -J e
195nt 165mi
o Eé???&
WEHSHYE ;::F,,o::,:«:s'maar)mﬁ# %ﬁmﬁ”:”:l\//“:_
re8E rEl, 0 . - R eaEl L TS
b f";,Ks,f \&J FH /j\}:_ ZERE _Ej"-——:::
& ,a¢¢' i L é;
4Kya A = s
7RSS N Tt T = z
’\f/\\qffﬁ =] & [:: 1%
SN ; s :
: b 2 ~
&R 7 E%ﬂ‘
AE 7 HA RS
Emia R N8R
B R 1. 3km B R 1. 9km
BRI () TFEENERINXFEREITS TH2 5 2 141, 0004 BRI () JF%FH{EELJIIIZéoé“zﬂEE 1TH1 106, 0009
-9 #20 A 0.7 % - 10 5%13 A 0.9 %
148nt 26817
FoSHiEAM T 2EHE
AR g rsosnEBe | LR
R &) EES
% A @
N e { L
S =
e = =
N 3 o
T S, = %
/] "\ = T
=]
% - A
i F e Yy, = a
e >3 18 =
B AU %
Awt A,
'/ L B¢ !
4o, i |
Vo fiEis - FI3
E9E 430m B R
LRI () TR X FEAL 3 TH 6% 220, 000H AR () TFHERER)XTFREIT3 6 1%2 1 57, 5004
- u 14 0.0 % - 12 A17TY%
[FEEARP 3 —6 — 3| -V T %
248nt 161m

FEoR AL

750m

HEHEEE

§
H
iy

5. 5km




TERI ()
5-1

THEMFE RN FEAS 1 T H 3%

6
[HIEAM1 —3—6
R — L

302, 0001
A 0.3%
1100t

A6 (B) THERMER)IXFERET 1 TH76 8 166, 000
7-1 6% 1 A 0.6 %
F—7 = (BR) 1,657m

##
ik
£/
=
i
iE

i
o LA F
FEAM  HE

iR 1. 3km

BRI () THEHIER)IXTHERT 3 1 2% 34+ 46, 800
9-1 ‘ A L5 Y%
At 77 b U v 00
4, 232nf
i FREES
z rgx THE) A
A
- i DHL 25 4 1§20
2 225 TE0deg
KAMI HATA ! r
FISH IND.LTD

L

B H & 6km




